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EXAMINATION 2017 GRADE 8 Model Paper

MATHEMATICS PART — A (Objective Type) Version 2
Part-A: 48 Marks, Part-B: 52 Marks, Total: 100Marks
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General Instructions: el
1) Read carefully and attempt all questions. U J’;,myrl?/,luf’zcjf(l
2)  Encircle the correct option of each MCQ as shown ithe example below.
— Ut w:’@.,;%vméé Zdirdem 2
Example: x*? x x* = xXPxxt= e
a)x° b) x8 @x16 d) x*®

3) Use black/blue ink for writing. Use of lead pencils not allowed.

e et S S ek Il £ 28 (3
4) If more than one option is encircled in a questionno mark will be given.

-?ngpuff /Jﬁlfgéu’mf L;,yl,euyc;.{lutdvi( Ji4

Total Marks: 48 Part-A(MCQs) Total Time: 1 hour 15 minutes
Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question
carries 1.5 marks. A 1.5 Ui /-ugfgmum}e"m ¥ (32)J5utyui ey
Questionse iy Rough Work J* 115
Q. No.1. Which one of the following is a set of natural numbrs?
YLLUJ( &{{)lﬁl(‘j/ﬁcuﬁd R1O93}
a){0,1,2,3,... } b) {1,2,3,...}
c) {0,+2,#4,... } d) {+1,+3,45,... }
Q. No.2. Power set of { 8 } is: —cer=JE{8}
a) {{d}, {8 }} b){{ }.{81}}
c){{} 8} d) {{0}.{8}}
Q. No.3. Which one of the following is an irrational number:
?Lau“}’l:/,:a)ﬁU:(Lu:Jij/)
) V16 b) V49 c)V75 d)+/81
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Q. No.4 3 =

. . . 64 -
3 ; 8 J3 . 3
a) 5 A C) — =
Q. No.5. The number of digits in the square root of 2025 Wlibe:
S Sur st B e L2025
a) 2 b) 3 c)4 d5

Q. No.6. Cube of “-4” is: -9J€‘-4”
a)—16 b)-64 c) 16 d) 64

Q. No.7. By converting 9 into an equivalent number with bas&,we get:

-Lal:'nd'llaLL/(Jiu:)ﬁJﬂ/"‘L 2 u’l/lfg
a) (100) b) (101} c) (1001) d) (1100)

Q. No.8. (1001)p+(101)=
a) (1101 b) (1110)

c) (10010) d)(10011)

Q. No.9. (43)%— (34} =
a) (4% b) (11} c) (43} d) (132}

Q. No.10. (23)% + (15 =
a) (6} b) (10} c) (12} d) (40}

Q. No.11. Sumaira’s annual income is Rs. 500000 and rebate iax is
Rs.400000. Her income tax at the rate of 5% is:

A6t 28 5%-ces40000Q 4 Ut L e as50000Q4 7§12
-Lgu"g

a) Rs. 100@.}/ b) Rs. 500@.}/

c) Rs. 2000Q-». d) Rs. 5000Q-.

Q. No.12.  Khalid bought a mobile for Rs. 2000 and sold it folRs. 1600. His
loss percentage is:

e BN L5 S 253 k5160000 7 Ut 5,200Qf L L1E A6
a) 5% b) 20% c) 25% d) 80%

Q. No.13.  Akram died leaving a property of Rs. 40000. His hes are 2
sons, 3 daughters and a widow. Share of his widawthe
inheritance, according to Islamic rule is:

St Llalue3e 2 Jttn L Ji UL 514 S s 4000000
e b Uit 2T L 56
a) Rs. 500Q-,. b) Rs. 1000Q-:.
c) Rs. 2000Q-. d) Rs. 4000Q-»
Q. No.14.  The number of variables in polynomial, Xy*~y*+y+4 is:

_LL)'A;"J :A/:.’:’u: 2xy3—y2+y+4 :L? J /.'.""/
a) 1 b) 2 0) 3 d) 4
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. No.15.

Q. No.16.

. No.17.

. No.18.

. No.19.

. No.20.

. No.21.

. No.22.

. No.23.

. No.24.

Solution of (2*+3)+(x—4) is: —< J¥ (2+3)+(x—4)
a) -1 b) 3°-1

c) 2¢+x-1 d) 2+x+1

(@-b%) + (a-b) =

a) &b b) a+B c) ab d)a+b

(1—0.04Y =

a) (1F+2(1)(0.04)+(0.04)
b) (1F—2(1)(0.04)+(0.04)
c) (1Y+2(1)(0.04)—(0.04)
d) (1—2(1)(0.04)—(0.04)

Factorization of x*—8x+4x—32 is: —c 87 IX°—8x+4x—32
a)(x+8)(x+4) b) &—8)(x—4)

Cc) (x+8)(x—4) d) &—8)(x+4)

Factorization of 97X’ is: PR
a)(X-y)(3x+y) b) (3 +X)(3y +x)

c) (X-y)(3x-y) d) (3 —=x)(3y +X)

Factorization of 9x*— & — 2 is: e BAE K- K- 2
a) 3+ 2) (X + 1) b) (X —2) (X—1)

C) (+ 2) (X—1) d) (x=2) (X +1)

3x%yz — 5y’z + &y’ =

a) Xyz(3x—5z+8y) b) xyz(3xy—5yz+82)

c) xyz(3xz—5y+8y’) d) xyz(3x—5y+82)

1 > 1
If X — M 2 then the value of X © + 7 isequalto:

el d X+ iz ?X_i= 2 /i
X X
a) 2 b) 4 c)6 d)8
If two times a number is added to four times of anther number,
the sum is 30. The linear equation for this statenm is:

ol;l/(f.u..gfugu’lngt'n:)ﬂg'wb;ngng/ﬁClgL)ﬁL/».gufﬁC)L)ﬁ.g
< Tl

a) +4y=30 b) +4y+30=0

c) 2x-4y=30 d) *-4y+30=0

In the given parallelogram, ZABD and £LACD are:

—ut Z ACD st £ ABD Ut ot S
a) complementary angles_s.¢ /HJ X

B
b) straight angles g,uf E

c) corresponding angles s fi A c
d) congruent angles e
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Q. No.25.

Q. No.26.

Q. No.27.

Q. No.28.

Q. No.29.

Q. No.30.

Q. No.31.

Q. No.32.

The measure of each interior angle of a regular hegon is:

-98n/lﬁ’d/eﬁl]&5/1l/£u’ﬂrgpyg
a) 90° b) 108° c) 120° d) 135°
In the given figure, the value o is: -ngéun:L}éG@;

1200 X
- ~

a) 30 > ]
b) 60 = > )
c) 62 (2x-4)°

d) 64 < > Z

i

In the given figure, XY is a: = XY PTG
a) chord’s

TN,
b) secant’¢ = ”
c) tangent/ v U
d) segment/i; -4

In the given right angled triangle, the value ok is:
B XL 1226 S

a) 3cm b) 15cm .
C) 21cm d) 225cm A 12 cm
9cm

If the surface area of a sphere is 1G0cm?, its radius will be:
K9 100w e 3al S Sii)
a)5cm b) 10 cm c) 25 cm d) 50 cm
If a cone has slant height 5cm and radius of bas&, then its
total surface area will be:
K 3K F ST n3Cmutsbewb m5emckE s Sbs 7 i)
a) 15went b) 24wcnt
c) 30eent d) 4Gen?
The median of the data 2, 3, 5, 6, 5, 5, 2 is:
—e st 23546 <552y
a) 2 b) 3 c)5 d) 6
The mode ofthe data 1, 2,1,1,4,5, 1, 2 is:
<ol 12 A1 4 <5 1 2
a)l b) 2 c)4 d5
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